

Run Date 09/27/2018

Contract No :

Prepared By: S. Manzello Solicitation No : CO-00216

Job # : 18-4006

SAN ANTONIO WATER SYSTEM

PO Box :2994 San Antonio,Texas, 78298-2449 TABULATION OF BIDS

Proposal : Boerne Stage Road Water Main Replacement

				CO-00216 - 1_D GUERRA CONSTRUCTION LLC			CO-00216 - 2_PRONTO SANDBLASTING & COATING			CO-00216 - 3_WAUTERS ENGINEERING LLC			CO-00216 - 4_NERIE CONSTRUCTION LLC			CO-00216 - 5_M5 Utilities, LLC		
ine No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount
1	100	MOBILIZATION (MAXIMUM OF 10% OF ITEMS 4-36)	LS	\$130,000.00	1	\$130,000.00	\$160,000.00	1	\$160,000.00	\$95,455.00	1	\$95,455.00	\$63,000.00	1	\$63,000.00	\$50,000.00	1	\$50,000
2	SP100A	INTERMEDIATE DEMOBILIZATION / REMOBILIZATION	EA	\$40,000.00	1	\$40,000.00	\$30,000.00	1	\$30,000.00	\$5,000.00	1	\$5,000.00	\$10,000.00	1	\$10,000.00	\$20,000.00	1	\$20,000
3	101	PREPARING RIGHT-OF-WAY (MAXIMUM OF 5% OF ITEMS 4-36)	LS	\$65,000.00	1	\$65,000.00	\$60,000.00	1	\$60,000.00	\$40,000.00	1	\$40,000.00	\$5,000.00	1	\$5,000.00	\$24,000.00	1	\$24,000
4	103.3	REMOVE CONCRETE SIDEWALKS AND DRIVEWAYS (COSA SPEC)	SF	\$5.00	753	\$3,766.50	\$5.00	753	\$3,766.50	\$24.58	753	\$18,516.11	\$2.00	753	\$1,506.60	\$15.00	753	\$11,299
5	203	TACK COAT (COSA SPEC)	GAL	\$5.00	389	\$1,946.50	\$10.00	389	\$3,893.00	\$3.98	389	\$1,549.41	\$25.00	389	\$9,732.50	\$10.00	389	\$3,893
6	205.2	HOT MIX ASPHALTIC PAVEMENT - TYPE B (10" COMPACTED DEPTH) (COSA SPEC)	SY	\$52.00	2,217	\$115,284.00	\$80.00	2,217	\$177,360.00	\$79.64	2,217	\$176,561.88	\$90.00	2,217	\$199,530.00	\$65.00	2,217	\$144,105
7	205.3	HOT MIX ASPHALTIC PAVEMENT - TYPE C (2" COMPACTED DEPTH) (COSA SPEC)	SY	\$14.00	3,893	\$54,502.00	\$21.00	3,893	\$81,753.00	\$13.52	3,893	\$52,633.36	\$35.00	3,893	\$136,255.00	\$25.00	3,893	\$97,325
8	208.1	SALVAGING, HAULING & STOCKPILING RECLAIMABLE ASPHALTIC PAVEMENT (2") (COSA SPEC)	SY	\$5.00	2,480	\$12,400.00	\$10.00	2,480	\$24,800.00	\$8.65	2,480	\$21,452.00	\$15.00	2,480	\$37,200.00	\$12.00	2,480	\$29,760
9	316	SEAL COAT (CHIP SEAL) (TXDOT SPEC)	SY	\$3.00	6,185	\$18,555.00	\$10.00	6,185	\$61,850.00	\$5.70	6,185	\$35,254.50	\$7.00	6,185	\$43,295.00	\$7.00	6,185	\$43,295
10	413	FLOWABLE FILL (COSA SPEC)	CY	\$150.00	2,220	\$332,925.00	\$195.00	2,220	\$432,802.50	\$133.12	2,220	\$295,459.84	\$150.00	2,220	\$332,925.00	\$115.00	2,220	\$255,242
11	503.1	PORTLAND CEMENT CONCRETE DRIVEWAY (COMMERCIAL) (COSA SPEC)	SY	\$94.00	84	\$7,867.80	\$70.00	84	\$5,859.00	\$113.64	84	\$9,511.67	\$110.00	84	\$9,207.00	\$75.00	84	\$6,277
12	503.4	ASPHALTIC CONCRETE DRIVEWAY	SY	\$80.00	220	\$17,584.00	\$50.00	220	\$10,990.00	\$93.16	220	\$20,476.57	\$90.00	220	\$19,782.00	\$65.00	220	\$14,28
13	503.5	GRAVEL DRIVEWAY (6" COMPACTED DEPTH) (COSA SPEC)	SY	\$60.00	140	\$8,370.00	\$40.00	140	\$5,580.00	\$36.93	140	\$5,151.74	\$75.00	140	\$10,462.50	\$24.00	140	\$3,348
14	513.1	REMOVING AND RELOCATING MAILBOXES (COSA SPEC)	EA	\$250.00	7	\$1,750.00	\$50.00	7	\$350.00	\$808.00	7	\$5,656.00	\$800.00	7	\$5,600.00	\$450.00	7	\$3,150
15	520.1	HYDROMULCH (COSA SPEC)	SY	\$1.00	8,305	\$8,305.00	\$3.00	8,305	\$24,915.00	\$1.49	8,305	\$12,374.45	\$5.00	8,305	\$41,525.00	\$3.00	8,305	\$24,915
16	530	BARRICADES, SIGNS, AND TRAFFIC HANDLING (COSA SPEC)	LS	\$50,000.00	1	\$50,000.00	\$20,000.00	1	\$20,000.00	\$40,000.00	1	\$40,000.00	\$50,000.00	1	\$50,000.00	\$75,000.00	1	\$75,000
17	535.1	HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (4" WIDE YELLOW LINE) (COSA SPEC)	LF	\$0.80	5,006	\$4,004.80	\$3.00	5,006	\$15,018.00	\$1.20	5,006	\$6,007.20	\$5.00	5,006	\$25,030.00	\$3.00	5,006	\$15,018
18	535.2	HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (4 WIDE WHITE LINE) (COSA SPEC)	LF	\$0.80	2,843	\$2,274.40	\$3.00	2,843	\$8,529.00	\$1.20	2,843	\$3,411.60	\$5.00	2,843	\$14,215.00	\$5.00	2,843	\$14,215
19	540	TEMPORARY EROSION, SEDIMENTATION, AND WATER POLLUTION PREVENTION AND CONTROL (COSA SPEC)	LS	\$7,500.00	1	\$7,500.00	\$25,000.00	1	\$25,000.00	\$8,000.00	1	\$8,000.00	\$5,000.00	1	\$5,000.00	\$35,000.00	1	\$35,000
20	550	TRENCH EXCAVATION SAFETY PROTECTION	LF	\$4.00	2,635	\$10,540.00	\$2.00	2,635	\$5,270.00	\$1.00	2,635	\$2,635.00	\$5.00	2,635	\$13,175.00	\$2.00	2,635	\$5,270
21	814	12" DUCTILE IRON PIPE (CL 250)	LF	\$142.50	48	\$6,840.00	\$500.00	48	\$24,000.00	\$77.28	48	\$3,709.44	\$150.00	48	\$7,200.00	\$75.00	48	\$3,600
22	814	24" DUCTILE IRON PIPE (CL 250)	LF	\$220.00	2,519	\$554,180.00	\$250.00	2,519	\$629,750.00	\$171.62	2,519	\$432,310.78	\$256.00	2,519	\$644,864.00	\$150.00	2,519	\$377,850
23	828	12" GATE VALVE	EA	\$4,603.00	2	\$9,206.00	\$3,000.00	2	\$6,000.00	\$2,944.00	2	\$5,888.00	\$8,000.00	2	\$16,000.00	\$4,200.00	2	\$8,400
24	830	24" BUTTERFLY VALVE (CL 250)	EA	\$14,800.00	2	\$29,600.00	\$13,500.00	2	\$27,000.00	\$14,007.00	2	\$28,014.00	\$35,000.00	2	\$70,000.00	\$14,500.00	2	\$29,000
25	834.1	FIRE HYDRANT	EA	\$7,000.00	5	\$35,000.00	\$8,000.00	5	\$40,000.00	\$3,999.00	5	\$19,995.00	\$6,000.00	5	\$30,000.00	\$4,250.00	5	\$21,250
26	836	PIPE FITTINGS, ALL SIZES & TYPES	TN	\$4,100.00	6	\$22,960.00	\$8,000.00	6	\$44,800.00	\$4,136.36	6	\$23,163.62	\$2,500.00	6	\$14,000.00	\$6,000.00	6	\$33,600
27	840	12" WATER TIE-IN	EA	\$6,000.00	2	\$12,000.00	\$1,800.00	2	\$3,600.00	\$3,494.00	2	\$6,988.00	\$3,000.00	2	\$6,000.00	\$2,500.00	2	\$5,000
28	840	24" WATER TIE-IN	EA	\$7,000.00	2	\$14,000.00	\$7,000.00	2	\$14,000.00	\$5,261.00	2	\$10,522.00	\$12,000.00	2	\$24,000.00	\$7,500.00	2	\$15,000
29	841	HYDROSTATIC TESTING	EA	\$4,000.00	1	\$4,000.00	\$5,000.00	1	\$5,000.00	\$3,000.00	1	\$3,000.00	\$8,000.00	1	\$8,000.00	\$3,500.00	1	\$3,500
30	844	4" BLOW-OFF, TEMPORARY	EA	\$7,000.00	2	\$14,000.00	\$4,000.00	2	\$8,000.00	\$7,642.00	2	\$15,284.00	\$2,000.00	2	\$4,000.00	\$4,500.00	2	\$9,000



## San Antonio Water System

## **Solicitation Vendor Price List**

Contract No :

Prepared By: S. Manzello Solicitation No: CO-00216

Job # : 18-4006

SAN ANTONIO WATER SYSTEM

PO Box :2994 San Antonio,Texas, 78298-2449 TABULATION OF BIDS

Proposal : Boerne Stage Road Water Main Replacement

				CO-00216 - 1_D GUERRA CONSTRUCTION LLC			CO-00216 - 2_PRONTO SANDBLASTING & COATING			CO-00216 - 3_WAUTERS ENGINEERING LLC			CO-00216 - 4_NERIE CONSTRUCTION LLC			CO-00216 - 5_M5 Utilities, LLC		
Line No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount
31	844	2" BLOW-OFF, TEMPORARY	EA	\$3,000.00	2	\$6,000.00	\$1,200.00	2	\$2,400.00	\$3,160.00	2	\$6,320.00	\$2,000.00	2	\$4,000.00	\$2,100.00	2	\$4,200.00
32	856	42" STEEL CASING PIPE (OPEN CUT)	LF	\$400.00	68	\$27,200.00	\$420.00	68	\$28,560.00	\$243.35	68	\$16,547.80	\$400.00	68	\$27,200.00	\$240.00	68	\$16,320.00
33	856	24" DUCTILE IRON (CL 250) CARRIER PIPE	LF	\$180.00	68	\$12,240.00	\$230.00	68	\$15,640.00	\$177.35	68	\$12,059.80	\$256.00	68	\$17,408.00	\$265.00	68	\$18,020.00
34	SS6706	GROUT ABANDONMENT 18" CASING	LF	\$19.00	60	\$1,140.00	\$30.00	60	\$1,800.00	\$22.16	60	\$1,329.60	\$60.00	60	\$3,600.00	\$18.00	60	\$1,080.00
35	SS6706	GROUT ABANDONMENT 24" WATER MAIN	LF	\$24.00	2,315	\$55,560.00	\$35.00	2,315	\$81,025.00	\$22.16	2,315	\$51,300.40	\$35.00	2,315	\$81,025.00	\$27.00	2,315	\$62,505.00
36	SS6706	GROUT ABANDONMENT 42" CASING	LF	\$50.00	186	\$9,300.00	\$80.00	186	\$14,880.00	\$61.13	186	\$11,370.18	\$48.00	186	\$8,928.00	\$52.00	186	\$9,672.00
			Total			\$1,705,801.00			\$2,104,191.00			\$1,502,908.95			\$1,998,665.60			\$1,493,397.50
		As Read Results	3			\$1,705,809.70			\$2,104,191.00			\$1,502,908.95			\$1,998,665.60			\$1,485,321.00
Calendar	Calendar Days To Complete : 240																	

Run Date 09/27/2018



## San Antonio Water System Solicitation Vendor Price List

Vendor Name	Total Amount
CO-00216 - 5_M5 Utilities, LLC	\$1,493,397.50
CO-00216 - 3_WAUTERS ENGINEERING LLC	\$1,502,908.95
CO-00216 - 1_D GUERRA CONSTRUCTION LLC	\$1,705,801.00
CO-00216 - 4_NERIE CONSTRUCTION LLC	\$1,998,665.60
CO-00216 - 2_PRONTO SANDBLASTING & COATING	\$2,104,191.00